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N.B.: (1) Answer to all questions are compulsary,
(2) Figures to the right indicate full marks.

( 2% Hours) [ Total Marks : 75

“ L Answerany two ofthe following :
; (a) What is communication? What are the steps involved in communication
process? X
(b) Define leadership. Explain in brief any six sters of leadership. | @@
(c) Explainthe concepts of Transactional leaders and Transfonnanonal !eadcr@o

2. Answer any two of the following : Q
(@) Define co-ordination. Explain the importance of co- ordination(9*
(b) Define motivation. Explain the motivational factors, \o\o\g\
; 4 (¢) Briefly explain Two Factor Theory advocated by Herzb@
S
XD

(a) Define controlling. Discuss the requ1rcmcm§$f an effective control
%) iy
i) , .

3. Answer any two of the following :

system.
(b) Explainthe followmg techniques of cor&@%mg
(i) Budgetary control (iDMBO \0}111) Break even analysis
(¢) Explainthe need to manage mfor\r@lons In an organisation?
"
4.  Answer any two of the followmg}@ RN
(a) * Define organisational dg@lopmcnt Explain the process of organisational
= ; development. O(Q v
i (b) Explain the meaningand importance of time management.
(¢) Explain the cop§équences of conflict.
C‘f}\®
5. (a) Rewrite t& answer by choosing the appropriate options given below :
(i) tgfder‘ leadership style, subordinates make decisions.
> a) autocratic . b) laissez-faire
X ¢) democratic d) participative
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(ii) is a process by which the receiver interprets the message« :

and translates it into meaningful nformation.

a) Encoding : b) Decoding
c) Acceptance d) Feedback i :
(iii) techniques analyses the cost-volume profit relatxonshlp
~ a) Self-control . b)Budgetary control :
c) Break-even - d)MIS

objectives. : CJ
: D
a) operational control b) Strategic control QO
c) budgetary control d) Self-control
v) means any alteration that occurs in the work enal(é’nment
a) Organisational change - b)Resistanceto ¢ a&e
¢) Management {o change d) Time manag&@lt
' )

(b) State with reasons whether the folllowing statements ire True or False :
(1) Supervision is an important element of dir n.
(ii) Delegation of authority is a non-financiatfactor affecting motivation,
(iii) Customization of ERP can be easily h@dled \
(iv) Behavioral modification helps to detePmine organisational climate and
to identify performance gaps. S
(v) Task conflict is also called a&g\l}_bstantive conflict.
»‘\ . ~
(c) ‘Match the following : \OQ
GroupA {(\@ Group B '
(i) Cross-cultural b@fr0 iers (a) Change in employee attitude and behaviour
(i1) Sociocratic ea%érshlp (b) Comparison of firm's performance

over a period of time

(iii) Hlstorlc@?analyms ~ (c) Professional approach of management
(iv) Sensgthy training (d) Employee oriented
v) T&é’myY (e) Dressing styles and eating habits
(}\ (f) Traditional approach of management
\&O' (g) No profit no loss
g s |
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(iv) The main purpose of » __isto ensure that the resources of 1




